BID TABULATION 46-29JUN06 BOONE INDUSTRIAL PARK ROAD IMPROVEMENT PROJECT

BASE BID				Lehman Construction, LLC		Emery Sapp & Sons, Inc.		Steve & Associates, Inc.	
NO.	Item	Unit	Qty	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
1	Mobilization	LS	1	\$20,000.00	\$20,000.00	\$19,800.00	\$19,800.00	\$33,000.00	\$33,000.00
2	Traffic Control	LS	1	\$12,000.00	\$12,000.00	\$13,876.00	\$13,876.00	\$25,000.00	\$25,000.00
3	Restoration	LS	1	\$7,500.00	\$7,500.00	\$12,000.00	\$12,000.00	\$5,100.00	\$5,100.00
4	Construction Staking	LS	1	\$5,000.00	\$5,000.00	\$1,800.00	\$1,800.00	\$18,000.00	\$18,000.00
5	Silt Fence	LF	140	\$3.25	\$455.00	\$4.15	\$581.00	\$2.50	\$350.00
6	Straw Bale Ditch Check	EA	2	\$50.00	\$100.00	\$90.00	\$180.00	\$100.00	\$200.00
7	Storm Drain Inlet Protection	EA	7	\$100.00	\$700.00	\$206.00	\$1,442.00	\$175.00	\$1,225.00
8	Erosion Control Blanket	SY	240	\$3.00	\$720.00	\$12.00	\$2,880.00	\$2.17	\$520.80
9	Excavation	CY	128	\$6.00	\$768.00	\$14.25	\$1,824.00	\$5.85	\$748.80
10	Embankment	CY	883	\$4.00	\$3,532.00	\$15.00	\$13,245.00	\$11.20	\$9,889.60
11	Remove PCC Pavement	SY	3168	\$8.00	\$25,344.00	\$5.00	\$15,840.00	\$4.00	\$12,672.00
12	Remove PCC Driveway	SY	513	\$10.00	\$5,130.00	\$11.00	\$5,643.00	\$4.00	\$2,052.00
13	7" PCC Pavement	SY	3168	\$52.00	\$164,736.00	\$42.00	\$133,056.00	\$48.57	\$153,869.76
14	7" PCC Driveway	SY	416	\$58.00	\$24,128.00	\$66.00	\$27,456.00	\$31.00	\$12,896.00
15	Subgrade Stabilization	SY	1584	\$20.00	\$31,680.00	\$25.00	\$39,600.00	\$20.70	\$32,788.80
	Temporary Surfacing (7"								
16	Gravel)	SY	400	\$7.00	\$2,800.00	\$7.40	\$2,960.00	\$3.00	\$1,200.00
17	Adjust Utility to Grade	EA	2	\$750.00	\$1,500.00	\$580.00	\$1,160.00	\$200.00	\$400.00
18	15" Zinc-Coated CMP	LF	38	\$30.00	\$1,140.00	\$41.00	\$1,558.00	\$28.50	\$1,083.00
19	15" Poly-Coated CMP	LF	72	\$32.00	\$2,304.00	\$60.00	\$4,320.00	\$31.70	\$2,282.40
20	18" Poly-Coated CMP	LF	42	\$35.00	\$1,470.00	\$66.00	\$2,772.00	\$39.95	\$1,677.90
21	24" Zinc-Coated CMP	LF	442	\$35.00	\$15,470.00	\$47.00	\$20,774.00	\$33.50	\$14,807.00
22	24" Poly-Coated CMP	LF	120	\$50.00	\$6,000.00	\$68.00	\$8,160.00	\$39.00	\$4,680.00
23	72" Poly-Coated CMP	LF	110	\$250.00	\$27,500.00	\$192.00	\$21,120.00	\$134.50	\$14,795.00
24	15" Mitered End Section	EA	1	\$250.00	\$250.00	\$426.00	\$426.00	\$300.00	\$300.00
25	24" Mitered End Section	EA	2	\$350.00	\$700.00	\$510.00	\$1,020.00	\$400.00	\$800.00
26	4'x4' Type M Inlet	EA	1	\$1,800.00	\$1,800.00	\$2,500.00	\$2,500.00	\$2,131.00	\$2,131.00
27	6'x4' Type M Inlet	EA	2	\$2,400.00	\$4,800.00	\$3,340.00	\$6,680.00	\$2,623.00	\$5,246.00
28	8'x4' Type M Inlet	EA	1	\$2,900.00	\$2,900.00	\$4,200.00	\$4,200.00	\$2,929.00	\$2,929.00
29	4'x4' Modified Type M	EA	3	\$2,000.00	\$6,000.00	\$2,900.00	\$8,700.00	\$2,290.00	\$6,870.00
30	Type 1 Rock Blanket	CY	6	\$70.00	\$420.00	\$66.00	\$396.00	\$66.80	\$400.80
31	Type 2 Rock Blanket	CY	65	\$60.00	\$3,900.00	\$52.00	\$3,380.00	\$40.00	\$2,600.00
32	Filter Fabric	SY	114	\$2.00	\$228.00	\$5.50	\$627.00	\$1.85	\$210.90

BID TABULATION 46-29JUN06 BOONE INDUSTRIAL PARK ROAD IMPROVEMENT PROJECT

BASE BID				Lehman Con	struction, LLC	Emery Sapp & Sons, Inc.		Steve & Associates, Inc.	
NO.	Item	Unit	Qty	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
	BASE BID TOTAL				\$380,975.00		\$379,976.00		\$370,725.76
ADD ALTE	RNATE NO. 1								
33	Remove PCC Pavement	SY	3221	\$8.00	\$25,768.00	\$11.00	\$35,431.00	\$6.40	\$20,614.40
34	Remove PCC Driveway	SY	217	\$10.00	\$2,170.00	\$16.00	\$3,472.00	\$6.40	\$1,388.80
35	7" PCC Pavement Patch	SY	3714	\$52.00	\$193,128.00	\$73.00	\$271,122.00	\$64.00	\$237,696.00
36	7" PCC Driveway	SY	268	\$58.00	\$15,544.00	\$68.00	\$18,224.00	\$39.68	\$10,634.24
37	Subgrade Stabilization	SY	1857	\$20.00	\$37,140.00	\$25.00	\$46,425.00	\$31.36	\$58,235.52
	ADD ALTERNATE NO. 1								
	TOTAL				\$273,750.00		\$374,674.00		\$328,568.96
ADD ALTE	RNATE NO. 2								
	Clean & Seal Existing								
38	Cracks/Joints	LS	1	\$30,000.00	\$30,000.00	\$11,100.00	\$11,100.00	\$65,000.00	\$65,000.00
	ADD ALTERNATE NO. 2								
	TOTAL				\$30,000.00		\$11,100.00		\$65,000.00
Addendum Acknowledgment Included?				Yes		Yes		Yes	
Statement of Bidder's Qualifications?				Yes		Yes		Yes	
Anti-Collusion Statement?				Yes		Yes		Yes	
Signature & Identity of Bidder?				Yes		Yes		Yes	
Bidder's Acknowledgment?				Yes		Yes		Yes	
Bid Bond?				Yes		Yes		Yes	

BID TABULATION 46-29JUN06 BOONE INDUSTRIAL

BASE BID	D			C.L. Richardso	on Construction	APAC-Missouri, Inc.		
NO.	Item	Unit	Qty	Unit Price	Extended Total	Unit Price	Extended Total	
1	Mobilization	LS	1	\$18,500.00	\$18,500.00	\$18,125.00	\$18,125.00	
2	Traffic Control	LS	1	\$4,200.00	\$4,200.00	\$2,500.00	\$2,500.00	
3	Restoration	LS	1	\$8,800.00	\$8,800.00	\$7,875.00	\$7,875.00	
4	Construction Staking	LS	1	\$5,050.00	\$5,050.00	\$4,200.00	\$4,200.00	
5	Silt Fence	LF	140	\$3.15	\$441.00	\$3.40	\$476.00	
6	Straw Bale Ditch Check	EA	2	\$205.00	\$410.00	\$78.00	\$156.00	
7	Storm Drain Inlet Protection	EA	7	\$290.00	\$2,030.00	\$121.00	\$847.00	
8	Erosion Control Blanket	SY	240	\$4.00	\$960.00	\$3.15	\$756.00	
9	Excavation	CY	128	\$8.25	\$1,056.00	\$24.50	\$3,136.00	
10	Embankment	CY	883	\$19.25	\$16,997.75	\$29.50	\$26,048.50	
11	Remove PCC Pavement	SY	3168	\$3.60	\$11,404.80	\$26.00	\$82,368.00	
12	Remove PCC Driveway	SY	513	\$3.60	\$1,846.80	\$55.00	\$28,215.00	
13	7" PCC Pavement	SY	3168	\$53.50	\$169,488.00	\$60.00	\$190,080.00	
14	7" PCC Driveway	SY	416	\$60.00	\$24,960.00	\$78.00	\$32,448.00	
15	Subgrade Stabilization	SY	1584	\$21.00	\$33,264.00	\$28.00	\$44,352.00	
	Temporary Surfacing (7"							
16	Gravel)	SY	400	\$5.25	\$2,100.00	\$14.00	\$5,600.00	
17	Adjust Utility to Grade	EA	2	\$1,040.00	\$2,080.00	\$1,200.00	\$2,400.00	
18	15" Zinc-Coated CMP	LF	38	\$56.00	\$2,128.00	\$93.00	\$3,534.00	
19	15" Poly-Coated CMP	LF	72	\$54.00	\$3,888.00	\$100.00	\$7,200.00	
20	18" Poly-Coated CMP	LF	42	\$69.00	\$2,898.00	\$90.00	\$3,780.00	
21	24" Zinc-Coated CMP	LF	442	\$54.00	\$23,868.00	\$57.00	\$25,194.00	
22	24" Poly-Coated CMP	LF	120	\$60.00	\$7,200.00	\$75.00	\$9,000.00	
23	72" Poly-Coated CMP	LF	110	\$190.00	\$20,900.00	\$148.00	\$16,280.00	
24	15" Mitered End Section	EA	1	\$152.00	\$152.00	\$385.00	\$385.00	
25	24" Mitered End Section	EA	2	\$227.00	\$454.00	\$390.00	\$780.00	
26	4'x4' Type M Inlet	EA	1	\$3,355.00	\$3,355.00	\$2,700.00	\$2,700.00	
27	6'x4' Type M Inlet	EA	2	\$4,090.00	\$8,180.00	\$3,225.00	\$6,450.00	
28	8'x4' Type M Inlet	EA	1	\$4,575.00	\$4,575.00	\$3,575.00	\$3,575.00	
29	4'x4' Modified Type M	EA	3	\$3,775.00	\$11,325.00	\$3,000.00	\$9,000.00	
30	Type 1 Rock Blanket	CY	6	\$46.75	\$280.50	\$98.00	\$588.00	
31	Type 2 Rock Blanket	CY	65	\$33.75	\$2,193.75	\$88.00	\$5,720.00	
32	Filter Fabric	SY	114	\$4.00	\$456.00	\$4.00	\$456.00	

BID TABULATION 46-29JUN06 BOONE INDUSTRIAL

BASE BID				C.L. Richards	on Construction	APAC-M	issouri, Inc.	
NO.	Item	Unit	Qty	Unit Price	Extended Total	Unit Price	Extended Total	
	BASE BID TOTAL				\$395,441.60		\$544,224.50	
ADD ALTE	RNATE NO. 1							
33	Remove PCC Pavement	SY	3221	\$4.25	\$13,689.25	\$26.00	\$83,746.00	
34	Remove PCC Driveway	SY	217	\$2.60	\$564.20	\$55.00	\$11,935.00	
35	7" PCC Pavement Patch	SY	3714	\$59.85	\$222,282.90	\$60.00	\$222,840.00	
36	7" PCC Driveway	SY	268	\$60.00	\$16,080.00	\$78.00	\$20,904.00	
37	Subgrade Stabilization	SY	1857	\$21.00	\$38,997.00	\$28.00	\$51,996.00	
	ADD ALTERNATE NO. 1							
	TOTAL				\$291,613.35		\$391,421.00	
ADD ALTE	RNATE NO. 2							
	Clean & Seal Existing							
38	Cracks/Joints	LS	1	\$33,350.00	\$33,350.00	\$6,400.00	\$6,400.00	
	ADD ALTERNATE NO. 2							
	TOTAL				\$33,350.00		\$6,400.00	
Addendum	Acknowledgment Included?			Yes		Yes		
Statement of	of Bidder's Qualifications?			Yes		Yes		
Anti-Collusi	on Statement?			Yes		Yes		
Signature &	Identity of Bidder?			Yes		Yes		
Bidder's Acknowledgment?				`	Yes	Yes		
Bid Bond?				`	Yes	Yes		